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¢ ALL FBDs required for the solution should be clearly drawn

e ALL calculations required for the solution should be clearly shown

300 Zoo Aoolb

Problem 1 (10 Points)

Replace System #1 shown in the figure by an
equivalent System #2 that consists of a single
force and specify where its line of action
intersects line AB measured from A. Draw the
updated diagram of System #2 showing all
your results.

?‘“‘“'“4“‘ = 4m | Problem 2 (15 Points)
. The truss is supported by a hinge at A and
roller at F. Determine the axial force in:

(1) Member CH using the Method of Joints;
no other method will count.

{2) Member DH using the Method of
Sections; no other method will count.

Problem 3 (15 Points)

‘ ‘ Draw the moment diagram for AC. Supports
are hinge at A and roller at B. Use Method B

< (method of relations), any other method will

/é) I 4\ 6 ] not count.
LIO ft 10 ft —+—10 ft ——10 ft—=1

Problem 4 (10 Points)

Two members AD and DE are connected by a
pin at D. Supports are hinge at A, roller at C
roller, and roller at E. Determine the equation
of the moment between B and C using A as
the origin. Use method A (method of cuts),
any other method will not count.
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Problem 5 (10 Points)

Three members AC, CD and BD are connected
by pins at B, C and D as shown in the figure.
Supportis a fixity at A. Determine the internal
actions at E, the midpoint of CD.

A KN/m Problem 6 (10 Points)

‘1 ' Two members AB and BC are connected by a
pin at B. Supports are fixity at A and roller at

C. Determine reactions at A.

Problem 7 (20 Points)

One member with a pulley at C. Supports are
hinge at A and roller at B. Determine the
internal actions:

(1) atpointE

(2) atpointF

Problem 8 (10 points)
For the composite area shown in the figure,
determine the:

(1) Coordinates of the centroid

(2) Moment of inertia about the y-axis

-3 in.-

Moment of Inertia
Rectangle about centroidal axis = 1/12 BH?
Triangle about centroidal axis = 1/36 BH®
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